HET 0 P TEAFHAT AT HreA WP Rream qe
gl Areathe Rre Tegen Qfsge) ITER qaR T

fafarsfresTeT qiferert
(THAT TLAITGH)

Specification Grid
(Including sample questions)
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TARIGSIBHIOT AlldbT (Specification grid)

anaRr

et Titea STea aiCgfd T AE@ Ul ATEW TSI BT | TISISHE! THEEHR] SrvadT
g7 AT AT R R AiWafE g 99Eg | TISIFHSl el TIHT FRFEadT T
AT goTErer fareaer faeprg wfeameT @ qeaTEET IRl EH AT W gy | q|d
TEAFHH! T FATAITHT HATSHT Tl TAEHR] §F T &5 |

TEAHAE (ice ITAe® I W AUAT A HUP! @l Sl T JTHAT HATSHT 8l
AATSHT JHRATATS JISATEG T TAER] TATSA A qul qra (ATt qiferest af Ta
2 | Rre@r R T I EeEiar Stvaig T Jearedd T U I S| dE g |
HATEHT TUTATHT G T TIEHHBT TFIUT &7 THEL HeATEHAH! ATE (AHIIT T Fearead
giRaT Foaree T SUET &g | BT aawTe ke YRRATHT AeaTemel A SIEiTeRT
BT T fergy RGP § | TEHABT STT T & T TEIRAST q e
FHE TETHAG (HicST AeATEa TOHAT ATATS HeATSHAH! ATaehl TIHT TUETTATS TARTAT
e fafire i qifdaede Feaqul Wl §rg | T ToAed e TIIae® Hl
IS, FH THE a7 T FHT THRHI TIH Gled, FH I AP TeAGHT T ST TIAIA
TR TR, TR AEPIR FA [, FF T8 B 0T FER0T T &7 Fe® (=R
TR 7oA77 i T aaes g | a9 w1 Rietesd 1l gsue Tente fre
FEE A T TR T aifersrs 3 fafrdiaor aifersr wfg | @98 soa @it
IGHHET 39T, favaas], SEW R, 9T e @I T & TR HT T Hasier
TIAEE GIed, T T Hlq ASHH! e, FH TIAATE Hq 97 & T4 9, fqa T 3==
FAAATE ® H T HARHT T T FAe® qHEY TRTH g5 | fafirdiewar
qTHIE SASTTHT TIAT THAT TIAIT T ISP IJAHSABIATE q foa afebrg | T84 2af
fafyrdiecor arfereer Teaue faivaat T STRqfasT Te@dT AT THISRHT AN a
frsfyrer afvr 1 | Pererarer Pretor wfskam ws=em et i %9 faorEsqEE #9400 T & ST
YIRS AT T 7 AR(RLT 9 I Al 16 |

fafirdieor aifde Riere qur TeaT FHivEATE TR SASEr favEeRETa e
fraieor T eI Y | AEHT ITegER AT STIHTER TR T HATEE fatated wae
TG | TOTPT TTABTT, THEIAT T JATRT AT FARTedIanor aiferehrer Hewarqul sifeT @etent
g9 | I9AT (qFEa aF Ul 98T TAMCUH gIE | TEIHAG! GFUl &aTe Te AT T4
i T AW, S T T qEHT TIAE® AT T, TF TS, 0T T A Weiur T
TAT FEATEH T IORAT THqeTs Rameer 9 gar frerr faarg TRRamT a9@r s sHe
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H U e TR EeTER FRTETT qifeedT T BlE e (I TN gfeeg |
et ferorret gepfr ¥ wreverE uf fafirsdieer aferet frwior g T | qufw wmamEn
fafyrsdiatT it faior T_T fMefafed FUeE FeR T @ T8

q. ITSIHAET FEAHAT
R. faese &7 a1 faaee
3. o faf qeee: @oTE, TR, T, faeamer, qearee, faeir e e

¥, IIEIHHEI it qTeavR X fsrasqe! st
Y. TORHT S 79T THR, TIAH WX, TAH ST, AEHFIR T 997
% YT FEiveT Rt T ARie e

o, faRTteTeT TAEHRTaRET THAT TITA TIH AGH JALH A H
EEERERE LRI C B EDICEES

TeRa fTeT TRT weRenE AT, AR, frae i T 3w SeT 8t BT S ST

AEIF §g | AW AW, T T I qeHl Tee® ar  fafraa Rarieeeer w@nr

TIeg | a8 e (AT QT & J@ehl T H&l BhaTae JaN T SIIE §7g e

AHHOFT AT T2t Fo! BrATIEeE IETEEY TKA TNTH G

(@) A TEH AWM : FAH qEbT TITHT AT s e g7 g AqeTeds
PraTIReE T wew frwior Tedg | S e i, sme T, afese e, g @
T, T@T T, T &, [W@ES T, I T, de] s |

(@) ST TEHT AT : HY I (99 7T X, AL a7 TS PR &9aT a1 99 5 a9
21 | FEIITHT ATATAT B A 1T TET T SRATE RIS AT S T AT 9T AT
g | a9 I GH T GeATS, €6, i, Jraa T, I T, i faq,
e T, SeTEXT f&, SATET T, AT I STET BRI JERT T g i T |

() 37T TqE€ : T, AT IoF &A1 T AN T qrafrerd 99 qeel1s T8t 7 e
AIHTHT &1 | I TEAT T A T THRAART 99 T8TAT T ST T TRA gt
T GH! PRATEEE TITaET TR I | W qREde I, Y99 T, @
T, IR I, AT T, TR T, ¥ @IS, FAE T, eI T, 7l 3@T1e,
grire T, faear T, Frior T, Qe T, | we, faaremn T, freerr 9 wefter
T, Qe T, FAEHA T, Gerther T, Pt e, faiem a1 ey

RSB IoT AlfeidbIan gt
FIA TS TORATT G T TIEhal Ao SORaeTed farrdiaer qier

fafursdieeor aifereer R
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q. A AT T

BF YRS e Ao i T fafrdiewr afveer geam ey | famdeee
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fretoraT faftreieto aifdeer T THIeg |

R. SUIE T Tl i I

& MY THaEie qeaHe a7 SLeasey [Marieed! [Meg Iudis qedrgdd T
farEdT TE e TTas! M= TeR T 9S@, IEHWR, 9AT e J9AT TRaw gar
TEATA (AT T 999 916G | 99 TATedTals THEH ©IFT TN T4 399 99168, |

3. fremfieea faeewn sifwafg T

I qNAHHT (AFEHT FAHRT Tee®Als AT T T 8L qEHl (qaATgals Hia WX & 7
T FEE WEUH g | aqd Rreviaers Brameddr @l FUeedr aHsa Had
TS qiewHT fammdter faergar sfvafe g7 smg | a@ aifde™T T, S, AEee b
qTIT Io9 AT HUF T T TIM6® qeeqa (AT T JORAT Seot@ g1 gt 9 a9
AT JANT Tt TIAT NCAT faamfiet faers sifwafesr wednt a9y |

AT Jooig TRTHT ATERAT FEATq TIAT faferia qifasrer fareres, fammft T weaae
freivTeaiarE et ¥ TeaEsd S/ o9ad T MEMERe 9eai (AR

o TIGHAF I¢¥T I faoasqart qequl & T faem g8 we fHor

o WY, TUEH qUT IIF Gl afeh T

o & foqem a1 d=aTe FET T FA A AT T STaAT faer

o T Ay T qeraT FHeEA T weAw At

o TR frHfvTeRal T Rereard woryety T
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o e faryaaiaar ware X ot faamdt o=t Swafer qaem =
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TIAH THREE
F.9. | TP B qTH T

q | fq aefra STNcES Te (9 X 90 = 90 (9% e
R | uShr SRS weA ¥ X R = %0 |q uwer ¥¥ fae

3. | SR ST e 90 X 3 = 30 [%0 fme

STHAT qoo ? T

AU

Q. FERI IAUCHS TSI ThTg | (AR T AT a5 W@e®) T THE ¥ (7,
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HTeatHe R8T TQe
AT FLaA

faoer = Seima THT: 3 "I

qUiige: 100

HHE & Group ‘A’

Addl e mdl Jld &1 I Tedai - q0x9=90
Give very short answer to the following questions.

1.

IUrE GIATIT Y4 THEATE &4 AT ig g1 & AN & 1950 A1 T 430
]
T FHT AR HhT 8

What is the marginal cost if production change from 25 to 65 units causes to
change the total cost from Rs. 1780 to 1930?

AN ST & &r ?
What is cost?

SCURA e el AT AT Tt Aeferd |
Write the conditions for output determination.
T S T S A 7

What type of land is marginal land?

FEIT AXATS TS G HIT A ?

What type of money is called standard coin?
FRTHT X JOTTeliapT oo J&e qHEI |

Clear the meaning of regressive tax system.
A (™ quaEs T & & ?

What is human development index?

TR FLEAT A HAA T ?

How is the protected trade created?

RFSTHT FTAR FKT TP A G ?

fafarsdecur aiferer 5



What types of goods are imported as per Ricardo?
Q0. FUTAHT YT AT (AT T GR=TAT B Mer Teg ?

Which authority is responsible to prepare and implement economic planning in
state in Nepal?

9He @ Group ‘B'
AAD gEiaRd B0l SM 1GdB: 10X =50
Give short answer to the following questions.
9. TP AR T T FA AW T FHA IRAATNA ANAbT Goled Aol |

Complete the table below and write the relation of total variable cost and total
cost.

R (Quantity)

A N (TC)
LK 1z X0 <1 RS <% EE:

FA qEdTId AN (TVC)

F [ AR (TFC) 40

JIar
AT JTere AT HT T FHA A GFeg T4 THe |
Discuss the relation of marginal and total revenue under perfect competition.
R THHFE TS AT AT o |
Write the features of monopoly market.
3. Hifws T Tt SATSEe! AT T8 THER |
Differentiate between nominal and real wage.
¥.  I9 HFH THREE o4 T |
Discuss the types of paper money.

4T
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9.

9=.

)®.

R0,

1.

R

St T fsftae fofasr frear gaasee |

Differentiate between life and non life insurance.

TSIEH &I ASTEE & & g ¢ AC o |

What are the major components of budget? Discuss.

FH I Ao Ioi@ TR |

Mention the importance of public expenditure.

A4 [ guaEaa qiis fqemar #ad gfeq 16y ?

How does human development index represent economic development?
o farepraet et fagTeaet et == THer |

Briefly discuss the classical approach of economic development.
AAURTT ATIRHT HEw@ GIEHAAT T4l THRI |

Briefly discuss the importance of foreign trade.

AqTTeh] e ASTATHT WHIGEE deferq |

Write the strategies of current plan of Nepal.

T T AfAHITE IIMEXVEET AHT THE |

Present the two way table with the help of example.

qoPT TLATEHSHT AT TGO el AT T |

Construct a multiple bar diagram for the data below.

(ScuTed far/MmT)
v f4.9. (YearB.S.) _
2070 | 2071 | 2072
CIS| (Crops)
gr (Paddy) q00 Q0 930
LS (Maize) quo Q00 q00
g (Wheat) 50 %0 0

fafarsdecur aiferer
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AcAADT YIPIERD A 32 Todel -

HHE T Group ‘C'
3xq0=30

Give long answer to the following questions.

R AR WA GO o AT Ta |
Explain the classical theory of interest.
¥, FNTT ATFHT FEEEH! AT TR |
Discuss the functions of commercial bank.
. AR AlweTaTe A Fagaedl T T ai=aT 90 U@ JIEARAT qieder (HaiT
T AGHINTIT Hegeh VAT TR |
Construct a frequency distribution table using tally bars with class interval of 10
and calculate arithmetic mean.
4, R, Rg, IR,/ R, RY, 9L, 99, 97, 39, 93 3, RR, ¥O, 99, RY,
29, ¥, U ]9, B9, &%, U UR) KR, V99, ¥Y, RR, 95, 99, 33, ¥, 4L,
%3
ERE|]
fesu# AiFeEe dAfmay T IrEReT fafr TR T8 AR a9 0% F G qEHEd
fetor e
Construct price index for the current year 2076 using Laspeyere's and Paasche's
method.
AR av (2073) = a9 0% (Current Year,
q&e® (Goods) 2076)
T T gfeATT %51 A T qf AT
(Price Rs./unit) (Quantity/kg) (Price Rs./unit) (Quantity)
FYST (Clothes) 1200 3 1500 5
AT (Transport) 700 2 900 4
@ (Food) 400 5 700 6
Tt (Education) 700 2 850 2
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YRl TP &

TITEHT THIX o gger | gy favme qUiiE®
st aghrea weA 19 ¥ faee 19
BT IAL AET T g q =ruar 94 e %0
T I ATSH 99 3 ¥y fee ¥
ST R R "uar 94 fAee 0y,

FS ;g T AA™ g G | GIET IJAX ARG TIFHT 5 T ATHI IO AT TIHT
& fa@ey o afeq g |
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HTeAtHe R8T Qe

AHAT 999
Taor - gldsrd
Tﬁ'{cl? O q97 : R °vaT 9 feie
qqe & Group ‘A’

AADT Y¥AD I HS1 I GeldI_ - 19 x9=19

Give answer of the following questions in one sentence.

Q. THHW T4 AT Fasrel g e 7 (K)

How many kingdoms were there in Nepal before unification?

R AUH THEHHT TG NMEH RS TF AT Jeargad e | (U)
Evaluate the role of BahadurSaha in unification of Nepal .

3. o AATaER" T F g ¢ U@ arEr et | (U)

What do you mean by ‘Adult Franchise'? Write in a sentence.

¥, “SIAA GSUE AcheA et AN RET 17 FE 7 UF AT TS e
\(H.A.)

“Referendum was the demand of that time." How? Clarify in a sentence.

Y.  FHP AEASCATE Q0! STEEAT @i s fafg) 2 &Y 0 SR e 1(K)
Which ruling period is known as golden age in the history of Rome? Give a
reason.

% fae e e AEethaTe siiemEd (e JRRMATs U6 Jadl Seid
TR | (H.A)

Mention the contribution of Mesopotamia in promotion of world civilization in
on sententce.

o, Tt FHITAT ACTUSRIF TMHEE AR AR (FUGAT {67 THSE g7 I 2 SATHAT
R ©F aEr de e | ((HA)
Why did minorities start uniting to oppose the Czar ruler in Russian
Revolution? Write your opinion in a sentence.

5. W 999 gg@l & U q&T RO aasTe | (K)
State the one key factor of first world war.

R fufr foreagaa SO BRI N 0 IR FEEH | (K)

fafursdieeor aifereer
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0.

Mention the one major factor that make japan to lose the second world war.
ULHSHHT AGHAAT J T fTeaagar HR0T PRl S SH1EATE T aadT T
R 1 (A)

“Failure of League of Nation was the cause of the Second World War." Clarify
this statement in a sentence.

Q. TIH UL TEUH F TF SLTATE GHIT T WebTs qaR THER | (A)
Prepare a placard to support any one objectives of the UNO.
qHg 9 Group ‘B’
AADT Y¥ID! BIS1 SR AXABIA - EX{=¥0

Give short answer of the following questions.

R

i’

9¥.

.

1%.

q0.

friTe TdTer AT quT TSI el Sead e | (U)

Mention the social and political condition of Simraungadh Civilization.

HEAHTE FACITHT T AT A TIET [l Teavaehl FeaTgdh Ter |

Evaluate the relationship between the Baise and Chaubise States at medival

period ?
ERC)
qEY T AT TIHT AT i/ s0ET GHRICHS JUA(eTebl THIEAT T | (H
A)
Analyze the five /five positive achievement during the Baise and
Chaubise State of Nepal.

fa.®. 0¥s g 04k qEEFEE B uiT qET Yaeas wear T fafqars awa amn
ST, 1(A)

Construct a time-line showing major any five historical dates and events from
2046 B.S. to 2056 B.S.

T TAATRIT SRR Tee AT AR [T ST 7 o forameetts ai=r S

=@ T | (H.A)

Why did People's Movement-II take place without institutionalizing the
People's Movement-1? Present your opinion in five points.

ATE AT [T FHHAT qigea] TLHT AUHT THE U1 [GH@ FAeEH agierd
U THEE | (U)

Explan the major five evolutionary steps in latest period of modernNepal.

AT @1 GEUHET H I FRUEE FIEHauT au Ter | (K)

fafarsdecur aiferer 9%



9=.

)®.

Describe briefly any five causes of Indian War of Independence.

Y farvagger & uie afomarE gesdar avie e 1 (K)

Write in brief any five consequences of the Second World War.

FIET A TSTAT AT Gl & 1 TS R TIAT TG TR |

Present point wise any five roles that Nepal has played in the United Nations
Organization.

SREI
Gaq AISqSHA (YT v SR TH TPl GHRAS Tede® @4 T | (V)

State the positive intervention done by UNO to maintain the global peace.

qHg T Group ‘C'

AdAdl geidl Al 07 Gdel? : IXT=RY

Give long answers of the following questions.

R0.

1.

R

T TAATRTR AT TEANE TP IUAIATS TR T TG AT
FIHEE® WA FT TS faa=dT TR |
What is federalism ? crifically analyze the co-relation between the Federal,
Province and Local level.

SR
TEHT qET UG TRl B 81 7 g, YA T WM JEdl A asarael e
TR | (H.A)

Justifying the significance of People's Movement-II, assess the effectiveness of
the measures taken after it to institutionalize its achievements.

e T ufeem & A g sy freads & wwT aneE fiuer g o7 g
AT AT AU TR, | (K)

Introduce the Greece Civilization. How has it contributed to the modern world?
Describe in five points.

T FITH FRUEE FIEHOAT Jeag T Il (AT d@Eed! 91 TR | (V)
Mention briefly about the causes of Russian Revolution and explain its impacts
in brief.
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HTeAtHe R8T Qe
THAT T

Ao BaRIc? et
qUIE® : %O gy : q "ver 30 fRAe

9.

()

@)

qHg & Group ‘A’

AAB! YIAGEHD Pdb AR 377 BB - &Xq= €
Answer the following questions in one sentence:

9 3T ST & & 7

What is search engine?

ZFEAICHTR T AURATE & |G ?

What is the business done through the internet?

TH.TH. THIGHT &7 S1ET U ehl A E T a1 WHd [qraleqdls SIHIT
fa=g 7

Which data type is used to store numeric characters or special symbols in
MS-Access?

TH.TY. TREHT Sadd! sasremes dls modify T & =g view &1 AN T
?

Which view is used to modify a table in MS-Access?

HIGIAT TMHS 9HST & 8 ?

What is Modular Programming?

C language @r gEaTar fardioaT Sefe |

Write any two features of C language.

SUIFT Tt Tk ACTRI - (RXq= ?)
Write appropriate technical term for the following:

HIEaX WAGFYl BT TOpaT

Law that governs the legal issues of cyberspace.

FATECH FFIITH] TGB! AT AT THEH T

fafursdieeor aifereer
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The smallest unit to represent information on quantum compute.

ER LU ou S [ I S (RXq= )
Write the full form of the following:
I. STP

.  WAP
qHe ¥ Group ‘B
¥. AdAdD JIAssd Bl 37 TSl - 4 X3=95
Answer the following questions:
(@F) PFHIT AqP AP & B ? JHH! H LA BIEIEE Jooid THER |

What is computer network? Enlist any two advantages of it.
(@) FFHET AfTeHaT T B & 7 TR B 5 NS ST |
What is computer ethics? Write any two of them.
(M) FIAAT AT AP & 7 ? BTSAT GREATH F T3 STHEE ACTE |
What is software security? Write any two measures of hardware security.
(F) TH Y NP & &1 ? TqH T3 FedY Ja6® AeTer |
What is m-Commerce? Write its two important services.
(3) FFaAE A FISH (I0T) STl & &1 ? TH B T3 Wee® ACTer |
What is [oT? Write any two importance of it.
() TTEEE B & B ? Y TS ST R |
What is database ? Give any two examples.
(@) TEHO B D B B ? TR B GRS BEEEE Ioog THE |
What is primary key? List any two advantages of it.
(W) STeT afde SSr F & ? TWH TNEE g FY qFAET TR Sodd TR |
What is data sorting? List any two advantages of using it.
(5F) T HE T THRGAT FA T BH AsAFEH TN TG ?
What types of work is done in MS-Access using Form and query object?

K. T U@ TR A8eYe Aead | Dry run ST @R | ®)
Write down the output of the given program. Show with dry run in table.

DECLARE SUB SHOW (A)
CLS

fafyreiaur arferat R



N =287
CALL SHOW (N)
END
SUB SHOW (A)
DO
B=AMOD 6 +3
IF B MOD 4 =0 THEN GOTO AA
PRINT B;
AA:
A=A-10
LOOP WHILE A >= 50
END SUB
% O [SSTH TRITHAT W Tedieedrs GeaMuY IF: Aee i : ®)
Re-write the given program after correcting the bugs:
REM to add record in an existing file
CLS
OPEN “Record.Dat” FOR OUTPUT AS #1
AA:
INPUT “Enter Name, Class and Roll No. ¢; Nm$, CI, Rn
INPUT #2, Nm$, CI, Rn
INPUT “More records “; Y$
[F UCASES(YS) = “Y” THEN GOTO aa
CLOSE “Rrecord.dat”
END
o, o fEud TR erad T EuE TeE F I delerd (RX9= )
Study the following program and answer the given questions:
OPEN “Detail.dat” FOR INPUT AS #1
OPEN “Temp.dat” FOR OUTPUT AS #2
INPUT “Enter name of the students ““; Sn$
FORI=1TO 10
INPUT #1, Nm$, Cl, A
IF Sn$ <> Nm$ THEN
WRITE #2, NmS$, CI, A

fafursdieeor aifereer
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END IF
NEXTI
CLOSE #1, #2
KILL “Detail.dat”
NAME “Temp.dat” AS “Detail.dat”
END
(@) WY REuer TR T ST & 2 7
What is the main objective of the program given above?
@) 3§ “KILL” statement dTs FTRIHETE &S &1 57 ATAHT TUTHAT el THET ALY
fF TSI 7 PRI TSR |
Do you get any problem in the above program if “Kill” statement is removed?
Give reason.

gHg T Group ‘C'

5. MIUREMER R T feae TR (¥xq=Y¥)
Convert / calculate as per the instruction:
i) (11001101),=(?),,
i) (524),,=(,
iii) iii) (1010), x (110), - (1011),=(?) ,
iv) iv) (10110), = (101),

R, (&) Y TS HB@ qW(E, ASHE T S AN IHh HISH SA%d T AFAH Ol
TS TRITH FARTE ST TANT T AT | e TVET T o fehrare wedw
T AIAT TUEAT T q GRH A6 8 | (¥)
Write a program in QBASIC that asks length, breadth and height of room and cal-
culates its area and volume. Create a user-defined function to calculate area and
sub-program to calculate volume. Hint: [A = LxB], [V = LxBxH]

@) “Record.dat” eGg] sequential data file df Roll No., Name, Gender, English,
Nepali, Maths / Computer field &HT data WISR X TRATHT § | T data file
ST Gender ‘F' g7 T ¥ [T EF R0 WRT A W [aamiieea! T+ 3@s
fve T T SETEE | (¥)
A sequential data file called “Record.txt” has stored data under the field heading
Roll No., Name, Gender, English, Nepali, Maths and Computer. Write a program

to display all the information of those students whose gender is ‘F' and obtained
marks in computer is more than 90.
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Q0. 1 USIET qEAT AT IHT TLEAT A AT fawile & 8T, | T S T Y AT
deTed | (¥)
Write a program in C language that asks a number and check whether it is odd
or even.

EPCH)

i SEEs # W T EUE SFHH AN dfed a@e Y deferd |

Write a program in ‘C' language to display the series with their sum. 1,2,3,4,.....,
up to 10™ terms.
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HTeatHe R8T TQe
AT FLaA

Subject: Optional Mathematics
Fullmarks: 100 Time: 3 hours

HHE @ Group ‘A S5x(1+1)=10

Ad gYAEE: Sieidrd el

Attempt all the questions.

1.(a)

(b)

2.(a)

(b)

3. (a)

(b)

4. (a)

(b)

5. (a)

Pt el i deere |

Define trigonometric function.

T GSEIEE a T b faua sEaFhnia 7e0% & g5 ?

What is arithmetic mean between two numbers a and b.

Aareg qERATEEH! THEd TH TCTET |

Write the name of the set of numbers which is continuous.

afs Afeaqq A =T, |A| T AW & g7 ?

If matrix A = what is the value of |A|?

afx g5 faeT Y@EEas! fa=a $107 0 T HaT FAW m T m, WT tand F AW
T S 9 dfede ¥ |

If the angle between two straight lines is 0 and their slopes are m and m,
respectively, write the formula to find the value of tan0.

TSl HiAidE qHaaid qaee ATt GHMaR g1 T4 Jideged &l Sl et
g ? AeaId |

Which geometric figure will be formed if a plane intersects a cone parallel to
its base? write it.

Sin 2A @TE TanA &1 ®IAT FF TR |
Express Sin2A in terms of TanA.

AT HIUTHT qICATHT Aee i |
Define angle of elevation.

afta v b famwEr U owT a” T b T A WA TH B & ?
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(b)
OP,

6. (a)

(b)

(©)

7. (a)

(b)

8. (a)

(b)

9. (a)

(b)

(c)

What is the scalar product of two vectors a and b and if the angle between them is 6?

FEAG O T AHA™ 1 NTH AT B FFAET WFIFIVAT P &y giafees P' 9w
OP' ¥ 1 & qFIvy &Terd |
In an inversion transformation if P' is image of P and r is radius of circle with centre

O, write the relation of OP,OP' and r.

9HE ¥ Group ‘B' 3Ix(2+2+2)+2x(2+2)=26

A f(x) = 4x + 5 W £-(x) BT A AT AMSTRE |
Find f-(x) if f(x) = 4x + 5.

A g(x) = 2x -1 T £ (x) = 4%, T g f(x) BT A TN ARG, |
If g(x) = 2x -1 and f (x) = 4x, find the value of g f(x).

f(x) = x2 — 1 T f(x) = 3 AT g7 [T qa1 AMSTR |

What will be the points of intersection of the curve f(x) = x* - 1 and f(x) = 3.

H‘&«'Az(% 'DW\MW‘I?'I‘TF&LA*‘ oo &g, R A |

IfA= (g _%) , find |A| and write A™! is defined or not.
FILE! (AHATAR ax + by = ¢ T px+qy =r AT D T D, AW QT TSR, |

According to Cramer's rule, find the values of D, and D, for ax + by = cand px +qy =r.
FHIHWEE 3x +4y+5=0 T 6x + 8y + 7 = 0 AIH WEEH HHE IaT A ol
[WEEH Y deTer |

Find the slopes of two straight lines having equations 3x + 4y + 5=0and 6x + 8y + 7
= 0 and write the relationship between them.

SITET [WE® 3x +2y =0 ¥ 2x -3y = 0 ATE FATST T FHIHTUT IAT AMSTR. |
Find the single equation for the pair of lines represented by 3x +2y =0 and 2x - 3y =0.

AT sin6A.cos4A A% sine AT cosine HT ANT AT FFACHT TIFAT TR |

Convert sin6A.cos4A into sum or difference of sine or cosine.
Sin A .
[TCosA % Tangent ATl AYATHP! TIAT T&(q TR |

Express % in term of sub-multiple angle of Tangent.

afg 2Sin20 = J3 9T O T A TAT AMSTERL | (0°<0< 180°)
If 2 Sin20= 3 , find value of 6. (0°<6< 180°)

10. (a) 3% |a|’=2,|b’|]= 127 a”b” 9T FHex a ¥ b~ =T FT w1 AMKER |
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(b)

(©)

11.

12.

13.

(a)

(b)

14.

15.

16.

Find the angle between vectors a and b~ and if, |a|’=2 , |b’|= 12 and a”.b”
fegut fasmT AP” TRT @ p O A@TE a T b H TN FHT TR

In the given figure,find AP and express p_) in terms ofa_and b

H TTEHH TAT e 0.25 9 feonsfiear =T e |

If the standard deviation of a set of data is 0.25, find its variance.
HHE T Group ‘C' 11x4 =44
B TR :

Solve: x*— 3x*—4x + 12=0

qAe® x -2y <1, x+y <4, x>0,y >0 F ATRAT P = 5x + 4y Hl AIHaq T gAdH
HHE 9T TSR |

Optimize P = 5x + 4y under the constraints x -2y <1, x+y<4,x>0,y >0
FIEAEIE AT f(x) = 2x + 3 & AT

For a real valued function f(x) = 2x + 3

£(2.95), f(2.99), f(3.01), (3.05) T f(3) F AMEE YAT TSI :

Find the values of f(2.95), (2.99), {(3.01), f(3.05) and f(3).

& A1 ®AT x = 3 AT sAfaregr g=g ?

Is this function continuous at x = 3?

Afeqq fafaer W T a9 SUar aHiFEE & TR

By using matrix method solve the following systems of equations:
3x+5y=11,2x-3y=1

ST famgaTe M T 2x2 - 5xy + 2y2 = 0 A Yid(AiIca TH 98 WeedT a# g1
I WEEH! T JHIFHT I TSR

Find the single equation to represent the equations of pair of straight lines passing
through the origin and perpendicular to the lines represented by 2x*— 5xy +2y*=0.

HE qT RSTRE |

Find the value of: sin 20° . sin 30° . sin 40° . sin 80°

fafyreaur aferee 20



17.

18.

19.

20.

21.

22.

I A+ B+ C =7 VT JHITG TR :
If A+ B+ C = =, prove that: sin* A — sin’B + sin’C = 2sinAcosBsinC

TSl g 5 armie I aqedT @A BN UF WHEE gETH A
SATRUH! 6m Il EAGUSH] Tl T HaPl I PUEE HAW: 60° T 45°
TN | g 9918 T gEUd! hadle al [agaeAad! g IaT ae e |

From a place at the ground level in front of a tower the angle of elevations of the top
and bottom of flagstaff 6m high situated at the top of a tower are observed 60° and
45° respectively. Find the height of the tower and the distance between the base of the
tower and point of observation.

THIE aATE AR AT
AT ST |

0 3 41
Find the 2x2 matrix which transforms unit square to a parallelogram(o 01 J .

SR TAEFH TAFATE HAHAAAT T TG [OMEH TT AT |

Find the mean deviation and its coefficient from mean of the given data.

Tt (Marks | .10 | 10-20 | 20-30 | 30-40 | 40-50
obtained)

fermmeft Erg@ @ (No. ) 3 6 5 4
of students)

fesua! qeaEFare WO Mrear T fa=emefierdrar e T e TR |

Find the standard deviation and coefficient of variation from given data.

IAT (Age) 0-4]4-8 | 812 | 12-16 | 16-20 | 20-24

TR e 71 7 10 15 7 6
(No. of Persons)

YHE © ‘Group D' 4x 5=20
THOAT SR B H1 =a a0 w1 feclt TRama qfeer et & 200, =T
femahr = 250 T8 TS wfgean femn afey femer wwar & 50w St fadeg |
Ay 9o S H & 30 f o fear wom swww #fq Sfamr fodgat ¢ wn

AP ?
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A contract on construction job specifies a penalty for delay of completion beyond
a certain date as follows: Rs 200 for the first day, Rs 250 for the second dayetc,
the penalty for each succeeding day being Rs 50 more than for the preceding day.
How much money the contractor has to pay as penalty, if he has delayed the work
by 30 days? find it.

23, UIAT IIGITH IR el Al [ge® (5,7), (-1,7) T(5.,-1) T3ar fefaa
forgame TR Tl W | IF i fager e T e | e
S& i foge® a0 faguy 9T s Te |
On the circumference of a wheel there are three points (5,7), (-1, 7) and
(5,-1) located such that the distance from a fixed point to these points is al-

ways equal. Find coordinates of the fixed point. Also, find equation represent-
ing the locus that contains all three points.

24, Y fafersd W T B qf AR ToTEEHT AEATTREE HA: Seg QT
T TS TR TS &7, S TR e |
By using vector method, prove that the quadrilateral formed by joining the
midpoints of adjacent sides of a quadrilateral is a parallelogram?

25. IS ABCD &1 fiiferga fMaemes@e® A(1,1), B(2,3), C(4,2)T D3, -2) & |
SR TIATE ST PGy afKaty 180° AT IR e | SRt srieerts
y =—x AT qUEd THER | AT g3 MRS S WA Jrss
AT A& |
The coordinates of vertices of a quadrilateral ABCD are A(1,1), B(2,3), C(4, 2) and
D(3,-2). Rotate this quadrilateral about origin through180°. Reflect this image of

quadrilateral about y = —x. Write the name of transformation which denotes the
combined transformation of above two transformations.
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JITH THNEE o wger | R EMIEE
Afq aefra 7oA 99 ¥ e 19
el I ARG T S q =uar 9% fAee %0
ST AL ARSI 3 ¥y fae ¥
Skl R 3 ey ¥ fAve 9y
Y .

TS TIF AETE g G X THE 3 T ¥ T GIeT Ia¥ ARG TITHT T /T T AT IAX
TS TYAHT THTR & e T faaed @1 g |
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HTeatHe R8T TQe

AT TR

{12 [ 2 JERC 1 g F= 0070 |

qUiTE® : 94 qHT ;R "ear 9% fiee
qHg @ Group ‘A’

AADT YIAD P dideIdl 3R T@asId - Q1x1 = 99

Answer The following questions in one sentence.

9. SEeEETs e e | (K)
Define Population.

R, WHO &1 SER {Heiamar s €7 I8 §9e &1 7 (K)
According to WHO, what age group refers to adolescence?

3 TS Y9 I 6 T ae 9fea TeR | (U)
Identify one of the factors that influence migration.

¥, BTHT GHIHT AT THIFAT HEH et TF IUM Tfeam e 1(A)
Identify a way to maintain gender equality in our society.

Y. AT T e e FET SEae W TN T ey ?
In which situation, emergency contraceptive pills can be used?

% U TATEHS! Y T3Sl A Sedi@ THE | STAATUMAT TEATEH®T H GIaewia
g | (U)

Specify one of the primary data sources. Under what source does the census
fall?

o, FreAfdaTE AP TH TS ATATST T B TIST TT defer | (HA)

Write down one of the ways that you can adopt to prevent child marriage.

5. qiEie sad e #6d gEl e SAeTar 9ednT 16y ?
How family life education helps to build a happy life?

R. SHEWHT UaH YH@ HAT AT M9 ST SIS TSeT TR defe® | (HA)

Write a slogan to raise awareness about registration of vital events in life.

0. fumir faepmEar o FARTe™ | (K)

fafarsdecur aiferer 3%



Explain the meaning of sustainable development.

9. S R Aeawdr TN fe ey 2 I TER | (A)
Mention why median is used in population education?
a1
AR HTT T B AT ! AT ASRTHATEEIR HETH T T AT
TEE® Il TR
What is Genter issues ? Mention the initiative steps done in Nepal to
address the genter issues.
9HE @ Group ‘B'

AADT YIieuxd DSl S ot ExY=¥0)
Give short answer of the following questions.

qR. TESET IREATH TEEE & B g1 7 B §8 AR IEHUAT T T | (K)
What are the factors of population change? Explain any two of them in short.

93. AT THIAAEEE LB Al GIadaT fqa=mT e | (HA)

Discuss the government policy on abortion in Nepal.

QY. AUETE SELEAT 9 009 T A 3099 AT HAM: 3,39,49,¥33 T E¥,_¥ 0¥ Ry
W gereieh gt P = P " fafee wair T8 § 030 @ IEgEdn TEue THE |
Population of Nepal in 2001 and 2011 was 2, 31, 51,423 and 2, 64, 94,504
respectively. Use exponential growth rate (pt=p_ ) method for population
projection of 2021 AD.

a1
SASEAT T AP & 8 ? THP! AELAHAT (b Iag ? FAIUIH JHE faigea! T
I TR | (A)
What is population projection? Why it is necessary mention the major methods of
projection.

. TUES! FHHT AeAT TARTEHE AT & FKT TAEEE AILH G ¢ T qQmT
TETRI |
In your society, what are the efforts for women empowerment? Enlist any five
efforts.

9. 7 TEARATIAHT AT FYAR TTH(AH faferel qrasier weaee & e | (U)

Explain any five benefits of using natural methods of contraceptive method.
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o, IETE SiaT Io TAGH qUIE T Ga B UIGFIIel TAHe® Sooig T | (HA)

Mention five steps you can take to improve family life.

95. JYTTHT ToI0T TUEIATE U8 TaRed T+ qierg; ? % Iid ST g e |
(A)

How can the registration system be managed in Nepal? Suggest any five ways

9R. famir foepm T SMagEfa =T Sracarerd e e | (K)

Explain the correlation between sustainable development and population.
THe T Group ‘C'
AADT GIAD A IR 1@elsi - IXg=RY¥

Give Long answer of the following questions
R0, YT TrAT ASTATH TTHGEAHT T TAT PARACEH! T84, I29F T WHITe® I
THEE | (HA)

Present the goals, objectives and strategies of policies and programs to the pop-
ulation of the Fifteenth Plan of Nepal.

). HAiEAT YA JUITRRT aFafvad et SeieEed! FRE! aras ATl THeE |
Explain the functions of the internal organs of female reproductive system along
with its figure.
or
FIRIIATH! BT, TATE T FTTIAH ITHEEH! qeger =@=t e | (U)
Briefly mention the causes, impact and management of infertility.
R TIESH TREARAT IS ANNFEEH! T T F&T gl fale g 7 &Y
TS TMT a0 TR | (A)

What role can you play to manage senior citizens in your family? Explain in any
four points
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HTeatHe R8T TQe

THAT 39
TAoRI: aPd ﬁl'%"
qUiTES : WY T R "er Y frae
qHe & Group ‘A’

AAD JIABRD P AIdAA IR AXEBI - 99 x9 =19

Aanswer the following questions in one sentence

Q. ARG W IS & TRAES ¢ U aTRET Aee 9 |
What do you mean by citizen? Write in a sentence.

R A e RER TR AT AT € | O GRRENeT AT O AR ad
TR |
Imagine, BIMSTEC Summit Conference is going to be held in Nepal, Prepare a
slogan for it.

3 Al I SEAEEHT THEHE FEAFEIT T 9% & AT Hafe T qa15g ?
What role can you play for the effective execution of the present constitution of
Nepal?

¥, U AEalead TUaeAcad E TaeT el & &l ?

What is meant by Federal, Democratic, Republican State governance?

Y. WA qETAEE TEw Ivg S UF WP R THER |
Prepare a placard mentioning the importance of independent judiciary.

% EEN FA A P RS 7
What is meant by substantive law?

o, JUES ATEAT TS AW N faaw e e dif fafed gaeea &
=T S deare e
What agency do you recommend the conflicting parties to go for the resolution of
the conflict that occurred in our village / tole ?

5. TUE J9Ad qUEAR [afie GIae® e TH g, A ALAATH! SATETCHT

ST qSUEAE I AP TEMHITae qiaad dederd |

You might have studied the different sources of Referendum, now present the

fafarsdecur aiferer ¥R



political achievement got from referendum on the basis of the study.

R. U (A % 5 Te® defed |

Write any two elements of nation building.
Q0. TURS AT @A TSTHIA W & T5rg ?

What would you do in case you don't get individual freedom?
99.  WUTAT TET TAATRIAT Fled Ge T fry 2 @ fafq aef@ieg |

When was Second mass movement commenced? Write full date

9Hg ¥ Group ‘B’

AdAD D BIGT IAT AXABIRY - &xY¥ =¥O0

Give Short answer of the following questions.

R

i’

9%.

.

1%.

qUTEHT THETAT THIETE THT Bl AR A6 P qTT L&D SAETHT
qUE & 9 GERTSTES ¢ JaTHT JaTh e |

In what ways do you convince to a person of your community not following
moral duties? Answer in points.

TIH ALTEET AR (0T T e Fa SO g ! SeevMied I&a
TR |

How is the power, check and balance maintained among the organs of the state?
Present with examples.

AT WU T fTaTe® Sood TS UE afie IReier aiT TFea qa
TR |

Prepare an editorial for a national daily mentioning the chief features of the
constitution of Nepal.

qITE ~ARITABTH IoF AERTHT EIHAT WA AR Davadlers Had qaa
g 7 TS JaTAT AeTE |

How would you protect the essence of independent judiciary if you happen to
hold the dignitary post of judiciary? Write in five points.

ERCH)
YT T JUTRA! T ALHEACHS ST JUIA ST GHFAT T Fde® qiierehl amTg
TR T |

Present the similarities and defferences between Parliamentary and Presidential
system of governments in a table.

ST ATEIHE® & & g ¢ gl (A0 e |
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9.

9=.

What are the mediums of public opinions? Make a list of them.
AYTAHT FHTATITATHT TR & HET GHRCHE THEEE S@T Gl G 7 ATAHT TS
TR TR |

What positive impacts have been resulted due to application of inclusion in
Nepal? Present it making a table.

AT GZEIHLIH AT TN b A (b AeaaTAl ST [a(e TIeg ?

Why should the political parties play leadership role to strengthen democracy?
Jq4qr

“TNT TAEE FAAT TGP foaapl 9 g1 |7 F4 ? T THa |

“Political parties are the bridge between people and government.” How ? Justify
it.

9R. AHH ILLIEE T TR |
Present the objectives of SAARC.
gqg T Group ‘C'
AADl JIAD A IR ToeB - Ixg=RY¥

Give long answer of the following questions

R0.

1.

R

YTl aAA e T AU AT Giae™, 0¥ fa9 qacas seaaT
TR |
Make a comparative study between the present constitution of Nepal and the
constitution of the kingdom of Nepal, 2047 B. S.

a1
ITTT AT e gefir ==t e |
Explain in frief about the constitutional development of Nepal.
AT HTH STAHAT IRATHT THEATRE T e a0 T STPeear =@l 19
e qireTR AT UF dE TR TR |

Prepare an article fora newspaper daily explaining the problems and their solution
inthe field of legal remedies in Nepal.

GIHT U qSUAR AU HeIT A Tl gIIeg | AGH JuR T ftaraa
STefiviEEad! STEAT T& Giel Tiqaad R THar |

You might have studied or made research about the United Nations Organization.
Now, prepare a short report on the basis of thefollowing sub-headings.

(%) 9= (Introduction) Q)

fafyreiaur arferat LR



(@) 9@ 3¢9¥e® (Chief Objectives)  : (R)
(T) FTHT FHIHAT ¥hod IWH GHTES . (The problems faced in the present time) : (3)
(&) fsFd T g9R1a (Conclusion and suggestion) : (3)
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HTeAtHe R8T Qe
AT FEIA

Taor = BSIdh

IS : %O

qHg & (Group ‘A")

AADI YIedl T Ao 3T @B -

Answer the following question in one sentence.
1.

FARE A Qe AP & 81 7

What is White balance settings?

BT TAHIAT T & e ?

What do you understand by photojournalism?
BIRATHIH! AT TEe® & b g ?

What are the elements of Photography?
ATFUHATH &Y P & ?

What is the full form of ISO?
TR RIS /I ™ & i ?

What do you mean by Aperture priority mod?
HIHAS TR & & ?

What do you mean by focusing?

ARETHAT TG Frdvd AT BATs AAGG, ?
What is primary content in photograph?
THHAT AP B 81 7

What do you mean by brightness in photographs?

HHe 9 Group ‘B'

AAD! geidl |IS1 3SR TPeBI -

Give short answer of the following questions
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R. =M T foEl @ Wl AC |

Write down the difference between warm and cool colour?
90. FHIOHT HIAH! AT T HE™ & g ?

What is the need and importance of the photo in society?
9. AT EH F TS BlEl =T & & FIAT A &g ?

What are the things we consider while taking pictures of moving object?
R, e Rug H F A 2 GreHhur Ao |

What do you mean by shutter speed write in short
93. T RIFHA T A3 RFHAH e Aeferd |

Write the differences between manual focus and auto focus ?
9Y. WRWTHERT SHSHE F T g 7

What is the role of composition in photogrphy?

YHeg T (Group ‘C")

AADT YD A AT @I - IXG=RY¥

Give long answer of the following questions

.

1%..

9.

T AF ffeg TSI & & ¢ TIATE FEX M FRFEE A& qUH THaE |

What do you mean by depth of field? Write about the causes that affects it.

T HIE TH & & ? WM AIAce (HEHHT RIERTRN T qH Giaa) aue
THER |

What do you mean by camera mode? write the process of photography under
manual operating system.

EEHRE BIAITHR T $ g ? adled BRI T AW fia s
IR U T |

What do you mean by commercial photography? Write down the things to be
considered foron weeding photogrphy
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HTeatHe R8T TQe

THAT JTT

R : 2N

quite : 94 T4 : R uer qY, frme
qHg @ (Group ‘A)

AAD! gllarnd I B1S1 a2 el - 19 xq =19

Give answer of the following questions in one sentence.
q. e P amReTa B SRR A 72U
Why Geography is called holistic subject?
R AR EEREE qify #Ha g 7K
What is equatorial circumstance of the Earth?
3. % ol st &fa qam it g 2K
What is the distance represented by 1-degree latitude?
¥, SHIEMT [T THAT TE1 TS GRS TAN g PHA

Why does USA use more than one standrd time?

Y. 9HAY W@T S\ H & & 2K

What do you mean by isobar?
& agfEreeg? U
Why does wind blow?
©,  AUTAT AT FHTATST ™HT T8 G 7K

How many Local Governments are in Nepal?
&, AT T WCH TeeArs qeEl T A g | T U

The third grade rivers are called temporary rivers in Nepal why?
R. HTiCeh THIEHG Sl & &1 7K

What do you mean by migration?

Q0. FA e ITURAD! Gl AT G 1K

Give short definition of Gross National prouct.
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99. HAETEE THISHT It & fefiT a7 7K

In which point the water freezes in Fahrenheit unit.

9 & Group ‘B
AAD! Jeieandl KIS ST 1GaaI - ExY =¥0
Give short answer of the following questions.

R, HQ TEdT 0 gy ? areA IKa@ e | U

How do seasons change? Explain with picture.
SR
T T gL qve Tdeea! Mar S TR |

Mention the diffrence between tropical and subtropical tempetate zone.

3. afs vo fesft afy=mar e e faemar R awar @fq & S o4 feft T @ #
FIGATSIHT HiT ol 81T ? A/Pr

If the longitude of New York is 70° west and time is 9 AM, then what is the time
of Kathmandu 85°East longitude at the same time?

Q¥. T efiea, afiEaed T e srer grer o e | K

Give short introduction of the functions of river like erosion, transportation and
deposition.

Y. S[FFT ATRA  HIWE AIG | HIE ATRT HRO TRGHAT T6g | T9 SR e 19
THFIETE AT g7 TR IUUEE Iooid e | HA
Earthquake does not kill human but human falls in risk during earthquake because

of their activities. Justify this statement and mention any four-safety measures

to be safe from earthquake.
9%, freaer Tt A9 Tdewd! W A B qE A IHETH FHT FA §g AeE |

Write the name of air pressure belts of the Earth and explain the process of any
two-pressure belts.

fafursdieeor aifereer L4



U, YT ITET FIAET @S TETHH T AT B Tl AT e | K

Write the name of any six minerals found in Nepal and give introduction of any
one.

95, qUE TE AP GUAUd @ISR IJea@ T I g @& aidl Taraml,
A T STASEaT F&T THE T G S THe | A/Pr

Mention the Geographical region where you reside and mention the affects of
the region in climate, vegetation, and lifestyle.

9R. STRNfeTe 0T e« (R.U+3.4) HA
Give Geographical regions.
(%) I Ge@E A4l (A T qHIX SAHAAT b wuat G |
Generally,most of the cities are developed in the riverbanks and plain land.
(@) AP TEATE FAPT TSR Awg |
Tarai regionis called granary of Nepal.

ar
A T THTETHT THABP] AT D IEEET AT Tl |

Analyze the relation between the human and nature with examples.

qqe T Goup ‘C'
AAD YIie®Hd A IR Todsl_ - IX5 = ¥
Give long answers of the following questions.

R0. faamEe! qaREEH fMem T9E o7 faamer FHeE A Tt R | I AT
qfte % AT T EtREed! iy fHE T i STEET IKE T | U

Any kinds of development are impossible without the development of
infrastructure. Justify this statement and present any five measures for rapid

development of infrastructures.

ar
TRl G AFE Siad T A1 ST I T91E Seoid TR |

Mention the impact of natural resource on human life and economic sectors.

. faeawr a9 AeEE i e SR | TET I AR FRUEE Ieid S [TIqehT
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Y ULEEATS [qehd TG TR SUHEE AGTR™ | HA

All nations are not economically forward equally in the world. Mention any four
reasons of this situation and write any four ways to develop the nations.

R, T AFHFIFR HAE TqAST THT TAR T T STIF qEhd TART T4 qoel
qTHEE e, | A/Pr

Draw a map of Nepal with general shape and insert the following geographical facts.

Mount Api, River Babai, Gorakha, Kathmandu Nijgadh Fast Track, Jut Culti-
vation area.
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HTeAtHe R8T Qe

THAT 9999A
Taoer = cAaradigon
quTTE o T R HeeT 94, e
qHg & Group ‘A’
AADT YIS BHD P didRIAT 307 TSelslT - 9% 99 =99
Give answer of the following question in one sentence.
. @ ufaed T B e 7
What do you understand by bank overdraft ?
R I AT AR TET qHTESHAT e St dseraars & &9 e gt
g 7
In what topics; closing stock is recorded while preparing final account when it
is given in adjustment?
3 AU U STH B (PAHPT g & ?
What type of bank is Nepal Rastra Bank ?
¥, BT T ® e 7
What do you understand by Insurance?
Y. THATL ST & B 7
What is budget transfer?
% 9IS HieATdl % qOd 33,000\~ AT FHAK o9& qT &.§,000 |- HIdl TH
TS ST TR TRART FEX TAR THE |
Prepare journal voucher of total salaries of Rs. 33,000; Out of which Rs. 6,000
was deducted for provident fund.
9, RPN AGTALIHT H AT ILITEE FAIHT THER |
List out any four objectives of government audit ?
5. WEREl TO6E FEIH B AR W, FGd T AUFREE THIHET TR |
List out any four rights and duties of Auditor General?
R.  HETHETE YT THS! SR The a8 g ?

How do you vouching for the amount received from debtors?

0. T HTRITHT SGIIUETH THLCHS AGIIEAT Jiqaar TR T ?

fafursdieeor aifereer %9



1.

In what situation; auditor prepares adverse audit report?

AGTTAEV AFEUSHAI T HHGUSTHT I ATEUSEEHE] H AR ATEISE®

AT TR |

List out any four general audit standards?
g9g @ Group ‘B’
AdDl JIAD @Sl 3R T@alsi -

Give Short answer of the following questions.
qR. ST foaT AU 30 ATAE 090 JTAH! e TUEUH] HTATCAT AT @Il T

ATHT A @TaT TR T |

oXx Y=¥O0

Prepare Trading account & Profit and Loss account on basis of trial balance on
30th Ashadh 2070 of Alfa Beta Business.

ferarcor arurd. | 3fae @@ w) e (W)

Particulars LF Debit | Credit Rs.
Rs.

¥ HiseTd Opening Balance R0,000

@iE Purchase 49,000

49 Fuel 94,000

ST Wages R¥,000

WY Stationery 5,000 4,20,000

faer Sales 90,000

= YR Interest Received

fasaw @9 Advertisement 93,000

g9 &adl Depreciation 9000

ferght fRal Sales Return 4,000 3,000

@@ fral Purchase Return

fer gwafa Fixed Assets ,00,000 9,9%,000

¢St Capital

g9 AT Bad Debt ¥,000

& Total 3,¥9,000 3,¥9,000

fafarsdecur aiferer

%X



3. AT STH T & g ? TP B AIET T& FREE ATl TeH |
What do you understand by commercial bank? Write any three functions of

commercial bank.
Srar
AT TE BT T F heg ¢ IEUMied SATedT THe |

What do you understand by commercial bank? Write any three functions of
commercial bank .

¥, e fratem swriem, e frfafad FREReEEs! ATERAT TR 9@ T@R
e |

Prepare journal voucher of District Election Office of Bhaktapur from the
following transactions.

T 9 A, BN ATAE T IY,000|- B I BHEL GG THHT AN T&H @T&Y
ST At |

Chaitra 1: Cheque of Rs. 25,000 as an advance issued to section officer Hari
Shrestha to purchase furniture.

= & T AfEATH! TXATEST ATTd &, {0,000 |- JehaTE THRIHT TGN |

Chaitra 6 : Cheque of Rs. 10,000 issued for the rent of last month.

I QU T X,000|- THAH GHT TE P @A TGET |

Chaitra 15 : Petty cash fund was established of Rs.5,000.

3T R ALY, BN AT I TS |, IR,000 |- H BiHEX @RE faeT T &, 3,000-|
B TG ST T g HaCa! ATIRAT fAoTeT Il wagdie i |

Chaitra 22 : The advance of furniture purchase was cleared by section officer
Hari Shrestha by submitting purchase bill of furniture Rs. 22,000 and cash
deposit slip Rs.3,000.

I 5 AEA A GG FUT € 3,000~ EFIE AET |
Chaitra 28 : Payment made for stationery purchase of Rs.3,000.

Y. FIHRI QI AP & &7 ? JqHT HY G Hed TR Ieid e |

What is government audit? Write any three importance of government audit.
SRE]

AT THR] ATV FIHEaR GredwaT e THar |

State briefly about development of gevernment audit in Nepal.

%, HeET MawaT Sriae! e € ager g fFsier a9, i T aeRew

fafursdieeor aifereer %3



9.

9=.

i®.
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AT TR |

Define Financial Comptroller General Office and explain any three rights and
duties of Financial Comptroller General Office.

AGTIOEATT HEAT SR TEAvTeT AR forgaioer THER |

Explain the role of vouching in audit work.

HET@l TTHH] FRTAIAE AN AIH! AGILIEATT ARSI T T |

Expain audit standards issued by auditor General?

gfafte e |

Prepare Bank Cash Book from the following transactions of District Agriculture
Development Office, Kathmandu.

S 9 : TgF AT & 99,00,000 |-

Ashadh 1 : Bank Balance of Rs. 11,00,000.

ATE & : RedT TIEA FACISAE € 3,00,000 |- I I ST |

Ashadh 8 : Loan of Rs.3,00,000 received from District Administration Office.
ATITE % : A JIEHA GG a19d ® ¥,00,000 |- I A& AT QAT |

Ashadh 15 : Cheque of Rs. 5,00,000 issued to purchase motorcycle.

ATME IR : ALY, 8 AMraaArs Q6T §C @RS T T ¥0,000|- Jwht SEHT AT
|

Ashadh 22 : Advance paid Rs. 40,000 to Na.Su. Hari Manandhar to purchase
Sofa Set

HTIE 30 : IPIN IS ® 95,000 |- T SFAR HATATS T 49,000 |- gt THH
feat it |

Ashadh 30 : Amount of security deposit returned to contractor Sharma Rs.
18,000 and contractor Kunwar Rs. 17,000.

LY



gHe T Group ‘C'

AADI JIDI AA IR 1B - ox 3=R¥

Give long answer of the following questions.
0. X ThET T @ i 2 T feerer Wit Terer e ThE aR yereT

1.

e |
What do you understand by vouching? Explain the vouching of receipts side of
cash book.

ERCI|
e T & qfthrg ? Fefafad FREREES! W= T quiE F6ad THarg ?
(&) T ST

(@) TSI AT SFHET TSEUHT qHH

What do you understand by voucher ? How would you vouch the following
transactions.
(1) Interest on loan

(i) Goods sent on consignment

AGTITOET JqaaT TR &7 GHTEET THIA ATEF TACTAR (I THR |

Expain the important factors that should be considered while preparing audit
report.

fafursdieeor aifereer EE



R, frwfafaa avqer T80T T SHEISHEST STETRAT 3T HET 08 AT A T GratuTesis

@ AR @I, AR A @7 T EA TR T8 |

Prepare Trading account, Profit and loss account and Balance sheet on the basis
of trial balance and adjustments of RN enterprises.

fa@xwr  Particulars @r.urH. LF | Sfae (@¥) Debit Hree (@A) Cred-
Rs. it Rs.
qr AT Opening Stock 90,000
@& Purchase 4,000
000
foet Rl Sales Return 1,
30,000
qdqd Salary
90,000
ARG TAT AR Machinery And Equip-
40000
ment
30000
AT Debtor
3¥,000
S @9 Interest Expenses ,00,000
30,000
TS el AR Income Receivable 3000 %0,000
' 4,00,000
SYTAT Wages 90,000
34,000
g< @9 Discount Allowed
30,000
AGITAAT qeF Audit Fee 3,000
ﬁ Capltal V\,OOO
HTg Creditor Y,000
for#t Sales 90,000
FHHET FFRT Commission Income
HIT Loan
1 g& Discount Received
@it fRaf Purchase Return
fost af#t fs=r Bills Payable
5= wdfa®¥ Bank Overdraft
& Total 3,¥5,000 3¥5,000
fafrsdiaer aiferer &%



SEIRIEE]

Adjustment

afvw W & 20,000

Closing Stock of Rs. 20,000.

AT T AARAT 0% B HE T |

Depreciation on Machinery and Equipment is 20%.
SaTer fast |tet ® 90,000

Wages Payable of Rs.10,000.

A T SFITT & K,000

Advance Salary paid of Rs.5,000.

fafursdieeor aifereer
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ISPl P ®

TIH TFRE® | Qi geen | g9 fame (e qUTies®
afq i we 19 R0 19%9 = 99
el IAX AR—A T | S w3 XY = ¥O
ISR R LG E %3 35 = ¥
ST R R ¥l 9y fHee oy
e

Y J97 AAH g I |

T JAUCHE TYARET AT TGIUT THFSATE HAT I (Or question) I G |

Fal ITACHS TITETHEY ATAEL0T T ey qar  uneafae fasm T qidhafas

JuTert Gaprgate sraar T99 (Or question) W § |
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HTeAtHe R8T Qe

THAT T
TaoRr : ararazor dgirel
quitee ;Y T : R w94 e
qqe & Group ‘A’
TAHT TEAH! AT Frar IaX e ¢ Ix 99=99%

Write very short answers to the following questions.

1.

g T TRefas Jurelier qgeilel W Jefee |

Name two freshwater ecosystems.

LT T 5P & B 7

What is an ex-situ conservation?

A fafeaerar Seere H & Ao AR |

Write any one importance of biodiversity conservation.
Rrafir BIER T S A 7

What is an electronic waste?

T @R e WEHa™ TS 6 UF 98X e |
Write one effect of hazardous waste on human health.

TRTT ITHAT FERHPT B GATET (AT FESTEE Fooig THE |

Name any two working area of the National Adaptation Programof Action.

AT TATTRAHT AT AT A T RATeT & g8 T Aefe e |

Write two applications regarding to indigenous knowledge and skills for climate
resilience.

5. TR FOETHT ToATAT WH B T3 ol NAUEEH! AH e |

Write the name of any two technologies used in energy sector of Nepal.

Q. ATATERURAT FRCIAST AT ATAGT ATEITF T{bT TIET HIR AETe |

0.

1.

fafursdieeor aifereer

Write any one cause of using the ventilation for eco-friendly work place.
foraq W & & ?
What is disaster?

THEAR AT T AIAH T MAAREES! ¥ Ieoid e |

9



Mention any two wetlands enlisted in Ramsar list.

99g @ Group ‘B’

AddAdl g Iia «Ic 37 1@esI : ox Y= ¥O

Write short answers to the following questions.

R

i’

9¥.

.

1%.

9.

9z.

AT GHET FCT T Y IIANET FRUEEH GrehaaT aui THe |
Describe briefly about any five causes of environmental causes.

femamr mifeafas yonfae &1 qiwr Aew@eE GreddHr avi TR |
Describe briefly about any five importance of wetland ecosystem.

EREH
FOT 79 NIRRT T F TAAEEET ST av TR |

Describe briefly about any five problems of tropical forest ecosystem.

W T a7 faueed! G &l Soar faffa TeeEeTe FEd a1 afeg 2
STHEE GIEHAAT auid THR |

How doesthe conservation of indigenous knowledge and skills prevent us from
climate induced disasters? Describe preventive measures in brief.

grer feereft defere -

Write short notes on;

(%) IERAE (Biogas) (@) Y SAtq<d (micro hydropower)

Y faem T it &y it faeprerest i qi=rai=reiteT ammERuES SUHES
e TR |

Mentionfive/five environment friendly approaches for sustainable development
of agriculture and industrial sector.

T fEUH g 2 FY U qeew TK@ e |
Why the concept of sustainable development is taken as one of the best instru-
ments for developing our country in long run? Present five logical points.

AT T QA H! HLFATA(G qTITE SATHAT LT THIAP] QTAATs e TH
[ B T{Eg ! B I9 STMEE o™ T |

After studying Environment and Public Health, how will you able to maintain
the health of local people? Identify any five measures.

FaT

fafyrsdiawor arfa R



i®.

ATATET T FE AT T & THIAT ? B T STIEE e Te |
What should be done to ensure environment friendly work place? Identify any
five ways.

foIg g FRUEEATE AT YINGET JqSH! TeS Al FTRAIA T qiprg | qspated
T TR |

“After knowing about the causes of disaster, it will be easy to manage it.” Clar-
ify with logic.

Iqg T ‘Group C'

dddl gl Al IR 1@eaI - 3x ©=}¥

Write Long answers to the following questions.

R0.

9.

R

e fafererar wetorer aifit TFaRETa F9 T Raaer TR #9d T aterg 2 B
TR ANFEEH AT TR |

How does indigenous knowledge and skills be applied to conserve biodiversity?
Explain any four ways.

Tl faomad BRR AAEET FE1 6 (AN ¢ 9T 9 [HaHH! STaee
= Gl IUHEE FI~gHT TohTa fSarg |

How does electronic hazardous waste affect the environment? Suggest pre-
ventive measures from this type of effect in Nepal.

ar
feroTerT PIE AT EeTq e et IguT faevr 9 =) ATEier AEeid
STEE J&J THarg |

Present 4/4 behavioral ways to manage hazardous wastes and control radiation
pollution.

AT GILEATHT WUHT MG TAT AAUNCT TATHEEHT GIaeh (AT ATEAT THRIE. |
Explain the national and international efforts for conservation of environment in
brief.

fafursdieeor aifereer 3
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Subject: Science (Optional)

Full Marks : 75
Hours

Time:

2.15

S.N. | Area

Topics

H.A

Remarks

1 | Physics

Force

Pressure

Energy

Heat

Light

Electricity and magnetism

5x1

4x2

2x3

1x4

23

Chemistry

Atomic Structure

Periodic table and Periodic law

O || N[N [W|N|—

Chemical Bonding

—_
(=]

Electro chemistry

—_—
—_—

Organic chemistry

—_
[\

Metallurgy

5%1

4x2

2x3

1x4

23

Biology

—_—
w

Microbiology

_
N

Cytology

Ja—
W

Living beings and life process

—_
o)

Evolution and Genetics

—_
3

Ecology

—_—
o]

Behavioral science

5%1

4x2

2x3

1x4

23

4 Geology &
Astronomy

—_
o

Earth

[\
(e}

Universe

Total questions

16

13

39

Total Marks

16

26

21

12

75

Note :

K = Knowledge
U = Comprehension/Understanding
A = Application
H.A = Higher ability (Analysis, Evaluation and Creation)
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Secondary Education Exam
Model Question

Subject: Optional Science
Time: 2 hrs. 15 minutes Full Marks: 75

Candidates are required to show creativity in the answers wherever applicable. The
figures in the margin indicates full marks.

Group ‘A’
Answer the following questions in very short. 16x1=16
State Hooke's law.
Write down any two gases which are primarily present in biogas.
State principle of calorimetry.
Define power of lens.
What is electromagnetic induction?
Write down the value of Avogadro's number.
Define Ionization potential.

S @ "0 o0 T W

What is the value of ionic product of water(Kw) at 25 degree Celsius?

What are nucleophiles?

Write two chief ores of aluminium.

~ =

Which two monosaccharide do lactose contain?

Which enzyme converts protein into peptones?

. Write any two examples of sex linked diseases.
What is biogeochemical cycle?
Name the organ that cannot be transplanted till now.

T o >3 3

Write any two examples of fossils preserved in Natural History Museum (NHM)
of Nepal.

Group ‘B'
Answer the Following questions in short. 13x2=26

1. Write any two differences between centrifugal force and centripetal force.

2. A sewing needle placed carefully on the water floats even though its density is
higher than the density of water. Why?

3. Latent heat of vaporization of water is 22.5 x 10° joules per kg. What does it
mean?

4. Distinguish between the nature of image formed by the eye lens and objectivel-

fafersfiaor arfre 9%



ens of telescope.
Write any two differences between sigma and pi bonds.

. How can we reduce hyperacidity? Describe.

Which rules govern the given reactions? State the rules too.
CH3-CH2-CH2 —CH2-CHBr—CH3 — CH3-CH2-CH=CH-CH3
(i) CH3-CH=CH2 + HBr — CH3-CHBr-CH3

8. Write down the balanced chemical reaction of gold with aquaregia.

9. Why should athletes, labourers, etc. need high carbohydrate in their diet?

10. Compare monocot and dicot stem with any two points.

11. “All hormones are chemical signals.” Give reason.

12. Write short note on biological nitrogen fixation.

13. The average half-life of radioactive carbon (,C'*) is 5735 years. What does it
mean?

Group ‘C'

Answer the Following questions. 7x3=21

14. The mass of the Earth is 6.0 x 10** kg and its radius is 6.4 x 10° m. Find the grav-
itational field intensity at a point on its surface. What is the weight of a body of
mass 100 kg on its surface? (G = 6.67 x 10-11 Nm*kg?)

15. How is biogas produced? Explain with diagram.

16. Calculate the molecular mass of Ammonium carbonate and Calcium Carbonate.

17. Explain the formation of sodium chloride molecule with the help of diagram.

18. Draw the internal structure of monocot stem and label the parts hypodermis and
metaxylem.

19. Explain the process of determining blood group with diagram.

20. How planetarium is formed the images of the stars?
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Group ‘D'
Answer the Following long question 4x3=12

21. Windup an insulated copper wire in the match A
box as shown in the figure. Connect two ends
of the wire with a galvanometer and move a
powerful bar magnet in and out of a match
box very quickly.According to this activity
answer the following questions. E——

i. On which principle does the above activity
work?

ii. What happens in the needle of galvanometer when the magnet is inserted inside
the match box? What happens in the needle of galvanometer when the magnet is
taken out from the match box?

iii. At which conditions the needle of galvanometer comes in rest and deflects fast?

22.  Hydrogen can be placed in group IA along with the alkali metals and in group
VIIA along with the halogens. Justify its position with two points each.

23. A homozygous plant having round seed and inflated pods is first cross pollinate
with a homozygous plant having wrinkled seed and constricted pods and then
self pollinate. What result will be obtained in second generation? Show your
result up to F2 generation indicating the phenotype and genotype ration in chart.
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HTeatHe R8T TQe
AT FLaA

TAORT : I Al INRRD R
qUITEs : 40 9 : q =T 30 fie

e & (Group ‘A’)

AAD GIAED Ib didAAl IR T@adB - XR=}
Give very short answer of the following questions.

Q. AP EREAATE TAHT T B TIT AP ACTe |
Write any one technique of promotion of individual health(U)
R freged wioer IcureT T %Y TS EHiFE AW S AR |
Mention any one hormone produced by pituitary gland?(K)
3. fliem @Ry T e ST 9T AR, |
Identify the main preventive measure to keep kidneys healthy?(A)
¥, FET ANIEERE B TSl SN Jedd e |
Write any one example of unsafe sexual behavior.(K)
Y. dfvear R F T8 Ao JETE |
Write any one importance of sexuality education.(U)
& WA (T ATAmEre S TSl S AW Jeoid TR |
Illustrate the name of any one aspect of healthful school environment.(K)
o, I SRS HEART ST AU B TSl ST AGTerd |
Write any one technique to increase community help in schools(U)
5. HYgHE W AR Y9G HROT A 8 |
Write main cause of diabetes (K)
. T UMEIET=A & TIeT H&T SUM I AVISTer ?
Identify the main preventive measure of asthma (A)
9qg @ Group ‘B’
AAD GIAsED €S I @dsl - Y XY =Y

Give short answer of the following questions.
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Q0. A RTEHT ATAWAE AMRTSF @RS TUR T Aleh Bl TRATET APEE
ARG |

Describe any five techniques to promote mental health through health edu-
cation(K)

4. HEY Feq ANHaT RTEATHT ATAHATE LIS EETST Al ?

How can we prevent sexual violence through comprehensive sexuality education? (A)

IR. “HHIH FeArTo famre @re e srieadR aha I afeeg” e e |

“Can community cooperation help the success of school health programe”
justify it. HA

3. HIET GHIT AEE TE8 ATHT AT AHTINS T AHH T87 e g |
TG FOEE qeA THerd |
Identify and describe social and mental factors related to heart diseases.(A)
SR
T AT AR F &1 ? FART BRI 47 AT ANIG T JHATE ToAHT AN & Bl
STHEE AIASIIRY |

What is cancer? what are its causes and what are the preventive measure for
it.(A)

¥, G AANIRTD! TP & 81 ? TG HY J1ET AeAe® Ao |
What is sports psychology? write down any three importance of it.(U)

g9g T Group ‘C'
Addl JIERD AN I TgadB - IXG=9%

Give long answer of the following questions.

X, WiEdT I AR TR o A1 THH ANE®H AHEHA T{erd T AfedT Ior T
YOIl W e ATARNE ANH GABA THRI |

Skech the figure of female reproductive organ with labled diagram and discuss
behevaurial techniques of keeping female reproductive organ healthy.(U)

aT
Pty T for SMTE a9 ANTEER AHEHT e T AT e et
SAEEIEd ATl THE |

Skech the figure of kidney with labled diagram and discuss behevaurial tech-
niques of keeping kidney healthy.(U)
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€. FANUH A FASTEE | FANUEE JUAT @AST AMT ATRAT THSHT IqA
GAEHUEEH! ATIHATE TrqiAd NorTd! TATAT a1 TIATAAT (el ovr e |

Explain the meaning of mal-nutrition.Analysethe sufficiency or insufficiency of

balanced diet on available foods for the prevention of malnutrition in your soci-
ety.(HA)
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HTeatHe R8T TQe

AT T9

Taorr = Rrgn

quitee: o, TR Tl 94 free
qqe & Group ‘A’

AAD GIAsEH I DA 307 eldl : 9 *x9 =19

Give very short answer to the following questions.
9.  vemER frer e & & 7

What is correspondence education?

R, =i T sAgEE RuenfaT £ (F " deer |

Write any one difference between formal and Non-formal education.

3. TSI SUH B g5 AE TIEEE deTR |

Write any two educational efforts made in Rana Period.

¥, Petor faergHT TegeHE TR TH Hed 35 FIUEE Ao |

Write two main causes of using curriculum for teaching learning.
W R g B §E Aee SR |
List out any two importance of teaching materials.

% e PATEARAT §IUN B GEAIST YANTT 0T ASTR |

Mention any two professional qualities of a good teacher.

9, RrererHT faeTE YiRATE! AMHT TR b 6 ?

Why is learning process necessary for teacher?

5. WS/ e affa TeT geT Her FR & & 7

What is the main cause of forming the Village/Metropolitan Education Com-
mittee?

R, YHEIHT ST qerer Rretet faarar @en H&d AHaT defeie |

What is the main role of Community Based Organization in education develop-
ment?

0. fqume & fae® AT ARTH T 5 FUEE Iooid e |
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Mention two main reasons for bringing the School Sector Development Plan.

4. T[T 9T yrafie Rrem Friwd I B 35 SLdeT Ivoid TR |
(Mention any two objectives of Basic and Primary Education Program-BPEP II)
qHE @ Group ‘B’
AADI gl KISl I T@aaI - T X Y = ¥O0

Give short answer of the following questions.

®

AER

9%.

.

1%.

9.

9z.

1)K

fr.5.2000 g 00 TEAHT RTEHAT ATHT F 90 AT TWHEE IJeog TR |

Mention any ten efforts regarding the educational development from 2007 to
2027.

MIHA T MITAH TSR] GFraales TH@ I JaMT J& e |

Clarify the relation between curriculum and text book in five points.
H TS ATTH AT TR AT T afieT Seer |

Write the procedures of using any two modern educational aids.
g STaTh IRAitTaT a8 TWeEg ! deferd |

How do you conduct a quiz contest ?

HEHT ICILIT TFTSH Y UITAET STHEEATE GIEhaT v THE |

Describe any five ways to increase motivation in the classroom.

frete qIfAweATE THEE AT TR T TRFEE deTerd |

Write the ways to use teacher training in effective way.
SRE]

RRT&T0T Sreamq ATl TN Bapl AT TG, ? A o |

For what purpose is teaching license used ?

FEATHISHT qaTAeft RredT fot e 0 ? Seoi@ TR |

Why is inclusive education necessary in the classroom?Mention.

TTIHT fahT Fvaet T F T FHETATE GIEhAT Ju THEN |

Describe any five functions of Curriculum Development Centre in brief.

ECEN
farear o AT e dveel T B Ui FUETATS GIEHONT JU TR |

Describe any five functions of Centre for Education and Human Resource De-
velopment in brief.
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gHqe T Group ‘C'
qAAHT TYAH ATHT I TR 3IXG=]Y¥

Give long answer of the following questions.

0. IAEAETEMT g THRCHF FFERATE HL FILIT T qiebrg ? IIE0THET
AT TR |

How can negative behavior in the late childhoodbe managed ? Specify with an
example.

. FET T BT AUCT TP B TIAT TSHT AT Teb Tl AT TIET ST
TARTE |

Make a lesson planbased on one ofthe lessonsof Grade 5 in Nepali.

R, IR T ARETT TR B iERiIET ATHRAT lE GEATSTEN | TTEsHr ST
ThE AT T F i FOEE e TR |

Write any five differences between subjective and objective question.

Identify any three reasons to test record keeping effectively.
SRE]
eI AT &7 SIS ARe® red e |

Explain the criteria of test item construction.

fafyrediaTor e 20
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HTeatHe R8T TQe

THAT FLATA

(2[00 MRS T (O by 27

quite® : 9y T : R T Y e
qg & Group ‘A’

AADT I Pb dldIA 37T TSelBI_ 99%9=14

Give answer of the following question in one sentence.
Q. ST AR F & 7 T qTRHT Aele ™ |
What is sociology? Define in a sentence. (K)
. TYUEE FASIH qHAINS (G hedlen T TRed i e
Prepare a postar to reflect the social life of pastoral society.(A)
3. YT FR Sftew wefa s U @ g ¢ e e |
How do you understand nature dependent life system? Write.(U)
¥, Rl gHW T SAiTe aRSiaae & U Mear detee |
Write a difference between a hunting society and an industrial society? (HA)
Y. WIS TR AN AT B AT AASG ?
Which period is indicated by the medieval Nepalese society?(K)
% WEER YA AT Qe e e TR TTETE L eATEhT e

How do you evaluae the impact of land roform act in the socio-econocic life of
condition of Nepal? Write in a senterce. (HA)

o, ASfTE THHTUS qUEST THISHT TR TG T Teh FTRMT AR |
Write, in a sentence, the significant impact of gender stratification in your society?(U)
5. Y FEA HATHT 8 ? T BRI Jeerd |
How does a person fall into addicttion? Give a reason.(U)
R, TUEH GHNEE ATTHIGE IrHAT 1 FedRT TATGH AqAHA® AR ARGUaHT hTe
TR qa |

Prepare a comparatively informative poster that could help eradicate the child
labor from your society.(A)

0. AW AYTCl FHI TUAUTHT (M AT ATt qree®drs a0 TAR T
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qieprg ? TF AT deTerd |
How can we use the means of information to transform the present society?
Write in a sentence.(K)

99. A qUIE ATRAT TST ALTLTATS HSTHAT A TSI GHI TET TpaTaeavedl & T4
gy 7 T TAT T4 TR TR |
If you meet the chairperson of your ward, what type of question would you
asked about the changing process of your society. (HA)
THe @ Group ‘B’
Acidl eIl 1Sl IR IR 1Bl - GXY=¥0

Give short answer of the following questions

R®

1=

9%.

.

9%.

9.

Mg TR AR et FamsT (e TOEH GredimT Seod e |

Write in brief about the contribution of intellectual movement to develop the
Sociology subject.) (K)

GIAT A AT GATSTAT AT, HMAE AT Aqed [qabraep! Al Tl A1,
FAY ? ATRAT f=R AR |
“The trend of economic, social and leadership growth started in a slash and burn
agricultural society.' Give your opinion.(U)

SR
NN AT TIEET HHRIHS TAETH! AT T |
State the five positive aspects of industrial society.

AT [AhaEAdTs &Y U frdvamied aHat@mT EeTer |

Prepare a time line to show the development stage of society of with any one
feature. (A)

ATl TSR Y AT TS GieddHT JeoE THER |
Briefly write any five characteristics of a Nepali society.(K)

fa.®. 0%% ufig Tt THISON YT THT HETAT TSI AT AT ITATHEEATS
Fadl TF gfqaeT TR TR |

Prepare a report by including the major social and political achievement of Nepal
after 2046 B.S.(A)

HITAT AT Wl AT 9T 3w el AT TR b gty T4 uker /g
e |

fafursdieeor aifereer Y



q=.

)®.

Write an article for a national newspaper on eradication of the existing gender
discrimination of the society. (H.A)

AT TUE B TF TS9N TUEE I8 | 9 TR AHIME THATEE LTt
fafeq qURSr & FET ITIEE SaeFIT Tgrg ¢ AT T&d THeE |

Suppose you are a member of a provincial assembly. What types of strategies will
you implement to solve the social problem of your province? Prepare a plan.(H.A)

Tafgr ufeaafed auw wafger faf smEsgs o & AR afEEesed aRAr
FreF{HT FET |
Introduce prosperity, and briefly write about any four indicators required for the
prosperity of a society.(K)

JIar
AR |
Clearify the social changes occuring in marrige system of Nepal in five points

g & Group ‘C'

AAD! YDl A I GBI : SX3=RY¥

Give Long Answer of the following Questions

1.

R

R

AYTAHT FHISTLTE ey Yfqetae faemawmae R et 9=l THee |
Write about the historical development process of sociology in Nepal.)(K)
AITAHT T TUTEAATS (&7 SATST U T ARG Gorfat AWl & & g 2 ATRAT
faR JeTEe |
What could be the role of an individual and the state to materialize the federalism
in Nepal.(U)

4T
ATl FHTSTHT AT, qiehle [iaaarel TqTell Ssiadal qepl T9E au T |

Explain the impacts of the religions and cultural diversity in the life style of Nep-
alese people.

faFEeT aHE qade® ddl GHNTARET [qH@d] ARl &l qrHI®
qAFEEATS e fEuat ? T e |

Write the social indicators of development and what types of social indicators need to be
emphasized by the sociologist to measure the development?
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